ASSEMBLY INSTRUCTIONS

MODEL : B850-DR

DRESSER
(BOX 1)
BOX OF DRESSER
NO ITEM QTY
DRESSER
A : = 1 pc
==
BUN FOOT
B [D 4 pcs
BOTTOM CENTER LEG

C @g 1 pc

STEP 1 : Open the bottom drawer and take out the Bunfoot carton ( B ). Assemble the Bun Foot (B) with JCBC Bolt (1),Spring washer (2),Flatwasher (3)

and securing with Allen Key (4) as shown.
%/ Leveler Adjuster

g Remark :For ease of installation
please flip Dresser over

\ 0

x4

Hardware Pack

~ Soft Surface

Remove Bottom

Center Leg

(BOX 1)
HARDWARE LIST
NO ITEM QTY
JCBC Bolt m6x50mm Blk
4
1 @)Il‘ﬂ'ﬂmmuuw» pcs
Spring Washer 1/4" Blk
) 4
() pes
Flat Washer 1/4"IDx13mmOD Blk
3 4
pes
Allen Key m4x110mm With Ball
Blk
4 N 1 pc
Tipping Restraint
1 pc

2

Oh

Anti - Tip Kit

COMPLETED ASSEMBLY

NOTE : MUST TIGHTEN SCREWS PERIODICALLY WITH USE SCREW WILL BECOME LOOSE CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.



https://manuals.plus/m/9e885e7674923dc369a5f4bcef8857bf1841d194eb97ff272a9f96aedb3fcb08

ASSEMBLY INSTRUCTIONS

MODEL : B850-EKB
EASTERN KING (4+8)

(Box 1)
BOX OF HEADBOARD & FOOTBOARD
No| ITEM Qty

Headboard
A @ 1 pc

Footboard
B / 1 pc

Headboard Leg

C 2 pcs

Bed Slats

STEP 1.1 : Attach Head Board Leg ( C ) to Head Board ( A ) as shown using  JCBC BOLT( 1 )with Spring Washer (2), Flat washer (3)and securing with ALLEN KEY (4 ).

STEP 1.2 : Fix the other holes with Csk Screw (6) as shown.
r

BACK VIEW

e
o®

STEP 1.1: STEP 1.2 :

Bed Slats Support

@ 8 pcs
Side Rail
F % 2 pcs

(Box 1)
HARDWARE LIST
No| ITEM Qty
1 JCBC M6 x 40mm
) 4 pcs
2 SPRING WASHER  1/4"
Blk 4 pcs
(=)
3 Flat Washer 1/4"ID x 4
13mmOD Blk CS
P
4 ALLEN KEY 1
e pe
5 ALLEN KEY
me/65m\mBlk 1 pc
6 Csk m4 x 32mm Rbw 1 6
pcs
Dmmmm-

STEP 2 : Hook SIDE RAIL(F) TO HEAD BOARD (A) closely and push down to fit.
repeat step 2 with other end of rail to hook onto FOOTBOARD (B).

STEP 3.1 : Tighten the 4 Corner with Allen Key (5).

STEP 3.2 : Fix the Bed Slat Support Leg (E ), to Bed Slat (D) as shown .

STEP 3.3 : Install the bed slat ( D ) to side rail ( F ) and tighten with Csk Screw ( 6 ) as per diagram
shown. (NOTE: THE SETUP MUST DONE AT THE DECIDED LOCATION FOR THE
BED TO OBTAIN PERFECT STABILITY)

STEP 3.1:

8x
STEP 3.3 :

Push the side rail(F) meet with wooden
slat(D) and fix the CSK screw (6)
by using the Screw Driver.

NOTE : MUST TIGHTEN SCREWS PERIODCALLY WITH USE SCREW WILL BECOME LOOSE CHECK TIGHTNES

S OF ALL SCREW EVERY 6-8 WEEKS. PAGE 1 OF 1




ASSEMBLY INSTRUCTIONS

MODEL : B850-N
NIGHT STAND

STEP 1 : Open the bottom drawer and take out the Bunfoot carton ( B ). Assemble the Bun Foot (B) with JCBC Bolt (1),Spring washer (2),Flatwasher (3)
and securing with Allen Key (4) as shown.

Remark : For ease of installation
please flip Night Stand over

. Soft Surface

(BOX 1)
BOX OF NIGHT STAND
NO ITEM QTY
NIGHT STAND
A 1 pc
BUN FOOT
B [D 4 pcs
(BOX 1)
HARDWARE LIST
NO ITEM QTY
JCBC Bolt m6x50mm Blk
4
1 @))I"‘Mw\mumm pcs
Spring Washer 1/4" Blk
) 4
() pes
Flat Washer 1/4"IDx13mmOD Blk
4
’ pes
Allen Key m4x110mm With Ball
Blk 1
4 /\ pe

COMPLETED ASSEMBLY

NOTE : MUST TIGHTEN SCREWS PERIODICALLY WITH USE SCREW WILL BECOME LOOSE CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.




	B850 DR
	Sheets and Views
	Model


	B850 EK
	Sheets and Views
	Model


	B850 N
	Sheets and Views
	Model



